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7| 7| 1 pewessonnzan | 5 |FTH F1K LS8 2L 5 0:09:08.49
15 11| 2 |resmossonnzan | 2 (KR BHXK AHhES 2954 (B 0:10:54.68
16 | 12| 3 |remessomnzan | 1 (53K £ *3Inrr43 B 0:10:58.13
23 [ 17| 4 |rewessomszan | 4 |J345 L3} P A% IS 0:11:38.16
8 | 1 | 1 |remesconszan | 1008 [/NPE —3E anvL 4Fh |k 0:09:11.02
10| 2 | 2 |resiesszonxran | 1004 |[FAK ETh IVERIX/ |k 0:09:20.88
14| 4 | 3 |remeszonszran (1006 | H HEIE 955 ha+ E's 0:10:43.84
20| 6 | 4 |remeszonsxzae | 1003[HF ZH) +hF5 =2 % 0:11:23.68
25| 7 | 5 |remeszonszan | 1009 |FE)I| FIER IUHT RZXH | & 0:11:54.47
26| 8 | 6 [rrwszonxran | 1002 |HEE FAT JkE7 Eq 0:12:03.56
27| 9 | 7 |rewemsonszan | 1001 [EHEL Bl $#5+ na |k 0:12:09.44
29 | 11| 8 [remreszom=z2e | 1005 |{REE #H AR YLE % 0:12:33.64
30| 12| 9 [rewreszonszan | 1007 |EE K 54 TF E:S 0:12:33.84
1] 1| 1 [roesweszonnzan | 19 [INFRK —18 anvyL v | B 0:07:47.60
2 | 2| 2 |remszonnzan | 15 |RSK [BHT ZEER NLE (B 0:07:58.19
4 | 4| 3 |remszonsnzan | 23 |iBHFE HE YhA 247 ] 0:08:38.52
5| 5 | 4 |remesconszan | 14 |E[H ZAH ZHIS THE B 0:08:54.69
6 | 6 | 5 |rememsonnzan | 17 [P BERK Ak Yarrts |B 0:09:01.26
11| 9 | 6 |remuszonnzan | 18 |HE E O34 LY B 0:09:25.07
13|10 | 7 pomszonszan | 21 |AKRE IDFE ko Lo ] 0:10:02.52
17| 13| 8 |romuszonszan | 16 |FAIER ;EAER FRYLEOY (B 0:11:02.42
19| 14| 9 |ressssomnnzan | 20 |FE Ft ~SA Ak ] 0:11:11.63
22 | 16 | 10 [r#ussszonnzan | 13 |HF} B— H54F 544F | B 0:11:31.45
24 [ 18 | 11 [romsszonnzan | 11 (BA FEE NERY29H | B 0:11:47.02
35 | 21 | 12 |remssmzonszan | 22 | B K YEER Y 8 0:13:59.20
12 3 | 1 |ressmsonszan | 1024 |E54E BE R {E shny /78 |k 0:09:31.35
18| 5 | 2 |remserzonszan | 1023 |85K FE ZXF YIS 'S 0:11:06.74
32| 13| 3 |remuszonsxzan | 1021 | KEE HE ArvRers  |% 0:13:18.42
33| 14| 4 |reweszonszan | 1022|400 T 5 *44H 1k 'S 0:13:19.04
3| 3| 1 [prsu—oman| 505 |BILEE AR [NE7EI3SE [ 0:08:30.19
9 | 8| 2 [pru—oman| 503 [B3 WE ERE 221300, [ 0:09:14.84
21| 15| 3 |7rsu—o#am| 501 |iiRE B8 MIE ST003707, B 0:11:28.53
28| 10| 4 [z7su—omam|1010|#1 £ BEE 0B [220517° =% 0:12:17.91
31 [ 19] 5 [orsv—omam| 502 [XFE Ex X8 [(1-2327° = 0:13:14.17
34| 20| 6 [7rsu—omanm| 504 | AR k% ER [T = 0:13:20.92




